TEMRE (HEBIERE) (D) 20, 520, 000
P FEYEA R (HEBIBRE) 16, 330, 000
ARLFE (BAEFHMEFLSRN NEX) )
1. fF & R3O MR = EE NEMRIL R GHES B A B4 SN [EE TR EMEORE K4 KB gt [/
AT AT B
2. FURFBET = EN)EE ST
VA | B4 ZENJIEEFGIREREER R4 HE 7 A
3. AFLHABE  ER3O04£11H13H 108004
- %51 [ %5 2 [ %5 3 [m]
E=Zd (AT) NFLAtRE %1 filiks 5. (C) A i NFLAttRE %1 filiks 5. (C) A i NFLAttRE %1 filiks 5. (C) FEAtfE i 2
(B) 30x {1-(B)/ (D)} 0 + (© (B) 30x {1-(B)/ (D)} 0 + (© (B) 30X {1-(B)/ (D)} @) + (0
5 P _ _ _ _ _ _ %
heeo L2y () 53 19, 000, 000 2.2222 55. 2222 (FR30%11A148)
1.1

X ERIARIX, AMLEN AR L > RO EEFED 1 085D 1 0 0ITHYTHE8HTH D,




IHI0FEE =FEENBRHARBRFIFEE BITAFTEORNIR (BREFMEILAX)
. EATHEE S
HAEIE (HiiE) TR
HABESRE)
2 HaAE
et TR L | 2| g | Hee |l
- = (W Hth (B) [AfLEE (© =
= MEXILEH =T S EERHEE INE +E)
= _ e oy | EHEHE SR ey —< (D) |(B)=(C)x
) REEME ERRUTHE . ) i &S . Bl i )
RBRE| RBAM| @Rzvon | FHIs | FURCT B | £HEM | LB ., & 2
L
2 4 2 2 -2) 10 3 3 10 2 2 20 - 15 15 - 30 1.00 30 60
1 [ravy s vsstan) 2 4 2 2 0 10 2 3 6 0 2 13 - 15 15 - 30 1.00 | 30.0000 | 53.0000




